mx + b)

4-4 Graphing Slope (y

Graph the following equations that are in slope-intercept form.
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In 10-15, give the equation of the graph. Put the equation in slope-intercept form.

10.

11.

12.

13.

14.

15.

12.

11.

10.

A D 1

Ya

Ya

A '
> SNepFp T
n/_
1
o)
1
4 -
1 To)
T —
v
V' N x
N
|
SNDF W T
a
1
o
1
<
1
LO
1
v <t
—
V' N x
N
>
ERTER)
a
1
o)
1
<
1
LO
1
v

13.

Ya

Ya

A X
~N
A | Y
- F | iepd 7
a
1
o
1
<t
1
\[.3
1
v
A X
~N
-~ >
o ETY b
_ R
[aN
1
o
1
<H
1
Ile
1
v
A X
~N
Anr
'Y
A ENT T
AN
o
1
<H
A \
1
v



